

## AN EDUCATIONAL INSTITUTE

UTS 01 Mathematice -IX

Prepared BY Mohd. Muneeb(Infinity's Brilliant Student) -From Tagore International School DELTA

Date

Pg No. Answer Key QI = 216 73  $(2^{2})$ 74) 4 3 =1 Ans Option 319 22 3 ms J4+JZ Ц 3 (54-53) (54+53) 54-53 Ju 3 +a2-b2= (a+b) (a-b) = 14+13 Optionb 03 leadingterm = highest degree Ans 3n-122+927-25+1323 is the coefficient OptionC 24 Option (c) 2,5 Ins 25 ms(b) Every integer is a rational = =1 [4] 1..... (a) no.

Pg No. SECTION B 06  $\sqrt{2}, \sqrt{3}, \sqrt{7} = 2^{1/2}, -3^{1/3}, -7^{1/2}$ Ans Take Lom 236, 326, 73/6 216 23/6 73/6 しったししまール N < 524 7 Q7 Ans  $7+2\int_{10} = \sqrt{5+2+2}\int_{10} = \sqrt{5+2}\int_{10} + 2$  $= \sqrt{(J_{5})^{2} + 2(J_{5})J_{2}^{2}} + (J_{2})^{2} = \sqrt{(5+J_{2})^{2}} = \sqrt{(5+J_{2})^{2}$ Or G N - T NP +---Brit lunit = 2 cm в 0 3 a AB= Junit at D 21 See Bc=1 unit AD= J2

Date 1 Pg No. DE = I unit AF=J3 08 25n2-42-5n+4 Ans 5x)+(4) 5 h+ 52 SECTION-C Q9 n= J3+. 2 Ans 52  $5 + 2JI = (9+b)^2 = a^2 + 2ab + b^2$  $n^2 =$ 3+ 2  $(a+b)(a-b) = a^2 - b^2$ 5-256 13-5212 - (5+252) = 25+24+2056 5+256 x 5+256 5-256 x 5+256 25 (5)2-(25) 49+2056 ml LUYO IT

Date Pg No. 910 0.4 + 0.18 Aors let v. y ben 0.4 = 0.444. 2=0.444.5 Multiply both sides by 10 - 2 102 = 4.444 ... Subtract () trom 2 102 4.444 0.444 2 = LANT 92 = 2= 49 0.18 let 0.18 ben 0.18 = D.181818 ... N= U.181818 .... -Multiply both Sides by 100 2 100n= 18.181818 .... Subtract (1) from (2) 1002 = 18.181818 = 0.181818 n 99n= 18

2=18 0.4+0.18  $\frac{18}{9} + \frac{4}{9} = \frac{32}{9}$ QIL 51-5 n= 2+J3, y= 2-J3 2-J3, y= 2+J3 Ans (q-b)= a2+b-zal  $\frac{\pi^{2} - y^{2}}{\sqrt{2} - (2 + \sqrt{3})^{2}} - \frac{(2 - \sqrt{3})^{2}}{(2 + \sqrt{3})^{2}} - \frac{(2 - \sqrt{3})^{2}}{(2 + \sqrt{3})^{2}} = \frac{(2 + \sqrt{3})^{2}}{(2 +$  $u^2 = (2)^2 + (\sqrt{3})^2 + 2(2)(\sqrt{3}) = 4 + 3 + 4\sqrt{3} = 7 + 4\sqrt{3}$ (2)2+(J3)2-2(2)(J3) 4+3-4J3 7-4J3  $\frac{7+4\sqrt{3}\times7+4\sqrt{3}}{7-4\sqrt{3}} = \frac{(7+4\sqrt{3})^2}{(7+4\sqrt{3})(7-4\sqrt{3})(7)^2} = \frac{(7)^2+(4\sqrt{3})^2}{(7\sqrt{3})^2} = \frac{(7)^2+(4\sqrt{3})^2}{(7\sqrt{3})^2}$ 49+48+56-3-197+56-53 44 = 5 49-48  $\begin{array}{r} y^2 = (2^2 + (\sqrt{3})^2 + 2(2)(\sqrt{3}) = 4 + 3 - 4\sqrt{3} = 7 - 4\sqrt{3} \\ (2^2 + (\sqrt{3})^2 + 2(2)(\sqrt{3}) = 4 + 3 + 4\sqrt{3} + 7 + 4\sqrt{3} \end{array}$  $\frac{7-4\sqrt{3}}{\sqrt{7-4\sqrt{3}}} = \frac{(7-4\sqrt{3})^2}{(7)^2 + (4\sqrt{3})^2} = \frac{(7)^2}{(7)^2 + (4\sqrt{3})^2} = \frac{($  $7+4\sqrt{3}$   $7-4\sqrt{3}$   $(7+4\sqrt{3})(7-4\sqrt{3})(7)^2 - (4\sqrt{3})^2$  $49+48-56\sqrt{3} = 97-56\sqrt{3}$ 49-48

 $\chi^2 - y^2 = 97 + 56\sqrt{3} - 97 - 56\sqrt{3}$  $\chi^2 - y^2 = 0$ OR 7+5 = q+7,5b 7-5 7+15 7+J5-x7+J5 7-J5 7+J5 17-15 = a+75b 7-5 7+52 7-52 = a+75b 7-5) (7+5) (7+5) (7-55  $\frac{77^{2} + (\sqrt{5})^{2} + 2(7)(\sqrt{5}) - (7)^{2} + (\sqrt{5})^{2} - 2(7)(\sqrt{5}) - 9 + 7\sqrt{5}}{(7)^{2} - (\sqrt{5})^{2}}$   $(7)^{2} - (\sqrt{5})^{2}$   $(7)^{2} - (\sqrt{5})^{2}$  $\frac{49+5+14\sqrt{5}}{49-5} = \frac{(49+5-14\sqrt{5})}{49-5} = \frac{9+7\sqrt{5}}{49-5}$ 845484 hg-s

Date | | Pg No. 14J5+14J5 = RX14J5 = 75 1455 -1-1-7. 44- $\alpha = 0$ b= 1 11 912  $h(y) = y^2 - 4y + 4$ Ans  $h(2) = (2)^2 - 4(2) + 4 h(-2) = (-2)^2 - 4(-2) + 4$ h(-2) = 4+8+4 h(2) = 4 - 8 + 4h(-2) = 161-1-3-07 h(z) = 0 $h(1) = (1)^2 - 4(1) + 4$ f(1) = 1 - 4 + 4h(1)=1 h(2) + h(-2) + h(1) = 0 + 16 + 1 = 17Q13 (216)-2/3 (256)-3/4 (243-1/s Ans  $\frac{4}{(6^3)^{-2}} + \frac{1}{(4^6)^{-3}} + \frac{2}{(3^5)^{-1}} + \frac{4}{5} + \frac{1}{5} + \frac{2}{5^{-1}} + \frac{2}{5} + \frac{1}{5} + \frac{1}{5} + \frac{2}{5} + \frac{1}{5} + \frac{1}{5} + \frac{2}{5} + \frac{1}{5} + \frac{2}{5} + \frac{1}{5} + \frac{1}{5} + \frac{2}{5} + \frac{1}{5} + \frac{2}{5} + \frac{1}{5} + \frac{$  $4 + (^2 + 4^3 + 2 + 3 = 109)$ 

Q14 Ansley n2+6n+9 degree is 2  $\pi^{2} + 2(3)(n) + (3)^{2}$ (n+3)2 (b) price of lab manual and notebook 27+6n+9 22+2(3)(2)+32 1-11 U-1-1 n+3-lab manual n+3 - terb no tebook NT 8 F (C) 22+62+9 = h(98)  $h(-3) = (-3)^2 + 6(-3) + q$ = 9 - 18 +9 20 2-2=0 51=1+11+0= n=2  $h(20) = \lambda^2 + 6n + 9$  $h(2) = (2)^2 + 6(2) + q^{1/2}$ 112-195 = 4 + 12+9 25 . n-2 is not a factor 三日子 キャーキャーキャーキャーキャー

SECTION-E Q15 n = 1, y = 12+ $\sqrt{3}$ ,  $\sqrt{2}$ ,  $\sqrt{2}$ ,  $\sqrt{3}$ ,  $(2+b)^2 = a^2 + b^2 + a^2$ Ans  $(a+b)(a-b)=a^2-b^2$  $\frac{\chi^2 + y^2 - \chi y}{y^2 - (2 + \sqrt{3})^2 + (2 - \sqrt{3})^2} = \frac{1}{2 + \sqrt{3}} \times \frac{1}{2 - \sqrt{3}} \times$  $= \frac{1}{(2)^{2} + (3)^{2} + 2(2)(5)} + \frac{1}{(2)^{2} + (5)^{2} - 2(2)(5)} + \frac{1}{(2+5)} + \frac{1}{(2-5)}$  $\frac{1}{4+3+4\sqrt{3}} + \frac{1}{4+3-4\sqrt{3}} + \frac{1}{2^2-\sqrt{5}} + \frac{1}{7+4\sqrt{3}} + \frac{1}{7-4\sqrt{3}} + \frac{1}{4-3}$  $\frac{1}{7+4\sqrt{3}} \times \frac{7-4\sqrt{3}}{7=4\sqrt{3}} = \frac{7-4\sqrt{3}}{(7+4\sqrt{3})(7-4\sqrt{3})} = \frac{7-4\sqrt{3}}{(7)^2-(4\sqrt{3})^2} = \frac{7-4\sqrt{3}}{49-48}$  $\frac{1}{7-4\sqrt{3}} - \frac{7+4\sqrt{3}}{7+4\sqrt{3}} - \frac{7+4\sqrt{3}} - \frac{7+4\sqrt{3}}{7+4\sqrt{3}} - \frac{7+4\sqrt{3}}{7+4\sqrt{3}} - \frac{7+4\sqrt{3}}{7+$ 7-4/3+7+4/3-1 8-1 OR 3-58 58-57 57-56 56-55 55-2 Rationalising each number seprately.

Go 3+58, 3+58/10-3+58 9-8  $(3-\sqrt{8})(3+\sqrt{8})(3)^2-(\sqrt{8})^2$ 3-58 3+58 J8+ J7 58+57 v J8+. 18+57 (58)2-(57) 8-J8-57 (J8-J7) (J8+J5) 18+53 7+16-17+56 7+56-57+56 7-6 (57-501 57+50) (57,2-(56)2 (a+b) (a-b) 21 1 x16+J5 J6+J5 J6+J5 J6-J5 V6+J5 (J6,2-(J5,2 6-5 5 x15+2 - V5+2 - 5+2 - J5+2 -V5+2 (JS-2)(J5+2) (J5)-12)<sup>2</sup> 5-4 1 Js-2 5+.2 

DELTA Dete / / Pg No. 3+58 - (58+57) + (57+56) - (56+55) + (57+56) + 15+23+ 18-18-5+5+5+56-56-58+55+56+58+2=5 5= 5 .. Hence Proved. Q16 Ans(i)  $4n^2 + 9y^2 + 16z^2 + 122y + 24y2 + 162z + 162z^2 = a^2 + b^2 + c^2 + 2ab + 2bc +$  $\frac{(2n)^{2} + (3y)^{2} + (4z)^{2} + 2(2n)(3y) + 2(3y)(4z) + 2(2n)(4z)}{(4z)}$  $\left(2\pi + 3y + 4z\right)^2$  $27p^3 - 1 - 9p^3 + 1p$ [1] (a-b)3= a3-b3-3ab (a-b  $(3p)^3 - (\frac{1}{4})^3 - 3(3p)(\frac{1}{6})(3p-\frac{1}{6})$  $(3p-1)^{3}$